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SSHENYE FHHIALI JFA(J) ‘CHEOIE’ 29 JIA X0 (%)
HSAIE Lol S HE0LE SSM HSAIE ELE=I RS SSM
(A) (B) (C) (D) (A-C)/A*100 | (B-C)/B*100 | (D-C)/D*100
118,752 133,348 116,824 121,229 1.6 12.4 3.6
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ESY(FHTL 72A) HEAF o 5} ENE SSM AN
(A) (B) (©) (D) F2HXH%) ™
S2(300g) 1,218 2,446 2,082 1,894 50.2
22+(1800ml) 2,475 3,276 2,592 2,125 35.1
Al21 € (5000) 4,094 6,089 4,894 4,921 32.8
AH2-(1000ml) 736 676 564 495 32.7
=2-(10009) 2,844 3,166 2,230 2,831 29.6
=48H210g) 1,065 1,397 1,189 1,473 27.7
3 (1009) 2,974 2,529 2,234 3,006 25.7
19 A (1807H) 20,463 24,854 19,999 18,732 24.6
A E10009) 2,455 2,740 2,230 2,135 221
AlZR(900ml) 3,729 4,175 3,461 4,388 21.1
ZJ|E(320ml) 5,443 6,784 6,510 6,692 19.8
2 Jt2(1000g) 1,476 1,517 1,284 1,591 19.3
g+AH(400g) 2,698 2,845 2,310 2,627 18.8
Ca AT (60g) 1,765 2,082 2,152 1,928 18.0
Itz A AIKI(400g) 6,487 7.611 6.247 6.369 17.9
AZ | D=X(10009) 11,657 13,707 11,755 13,421 15.0
(302H) It (100g) 2,131 2,324 2,014 2,129 13.3
QIXIZ=A(1000mI) 2,263 2,181 2,319 2,509 13.1
212+3(110g) 1,004 976 876 986 12.7
oK == (355m) 1,516 1,550 1,357 1,502 12.5
A Z=(360m!) 1,365 1,341 1,203 1,273 11.9
A & (5000) 2,272 2,175 2,148 2,406 10.7
= &(10009) 6,540 6,641 6,687 5,984 10.5
2 £(1000ml) 2,604 2,867 2,588 2,769 9.7
231 2H(150Q) 2,264 2,476 2,508 2,508 9.7
01=2(3009) 2,012 1,855 1,821 1,891 9.5
L = 0+ (10009) 10,197 9,983 9,259 9,934 9.2
ket (5H) 3,280 3,335 3,053 3,127 8.5
2HAH(900m!I) 5,629 5,573 5,280 5,723 7.7
X = (2009) 4,096 4177 3,978 3,860 7.6
£ JHI 118,752 133,348 116,824 121,229 12.4




